Input: Colorimetric Television Luminous System TLS00a

with rgb data of the
four elementary hues
100 =RedRe

110 = YellowYg
010 = GreenGg

00 1 = BlueBg

greenish

yellowish

Green Gg

bluish

Yellow Y,

greenish redish
Blue Bg

TLS00a; adapted (a) CIELAB data
L*=L* 5 a*a b*a C*ab,a N*ab,a

64.55 100.42 4d
90.75 93.08 1@
79.9 115.04 1
-13.55 48.12 19
-103.59 128.52 3(
-58.41 110.97
0.0 0.0

0.0 0.0

27.99 65.07
7156 71.62
13.6 44.55
-46.46 46.49

yellowish

RedRe

bluish

Output: Colorimetric Television Luminous System TLS00a

with hue number
n= 00 to 19

00 = RedRg

05 = YellowYe
10 = GreenGg
15 = BlueBg
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TLS00a; adapted (a) CIELAB data
L*=L* 5 a*a b*a C*ab,a N*ab,a
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